‘qﬁx>y x3 +y3 TAx@y=x3-y3, W3I>2@l)=
fx>y=x3+ydandx@y=x3 -y}, then3>C@1)= ‘ 5
(A) 280 (B) 400 (©) 420 D)

aﬁwﬁﬁwmmﬁﬁqmww@mﬁﬁaﬁﬁmgﬁwﬁwmﬁﬁﬁm@ﬁ
'ﬁml@mﬁ a0

t
‘Study the given figures carefully and cljgose an option from the answer figures that maintains the pattern

observed in the problem figures, )
@) A X =]o @)
A o) = X o~ A ?
= A & =
X £ ©) AO %
I I 11 v &y
A x(:] x| O
GV RS ® | AT 4 © | A0l o st
= Ol O - il =
i Y, weawﬁiﬁma%tﬁ?ﬁmw%% |wﬁwwmﬁwm%9
A) =_O¥eT B) it RS e ey e i (D) srefsit

Dhwani said, “This boy is the husband !iﬁ;the granddaughter of my father” How is Dhwani related to the
boy ? ‘

(A) Cousin ! ®3B) Grandda" hter " (C), Mother-ln-law (D) Niece

ﬁw%i‘@aﬁéaﬁqmmﬁqmw “%ACHABLE”%EF&% mmmwwmmaﬁrm
STEFATS 2

Which of the followmg words cannot be rmed usmg each letter of the given word “REACHABLE” only
once ? ;

(A) REACH - (B CHANGE(] . (© BACH ' (D) CLEAR
FATTE R ? | ;
What is the next term ? |
B: 16:7E': 2 i i ily c: R ‘
(A) 128 (B) 54 'B* (O 64 - D) 625
¥ 3119 g 3 & 270 Reoh Ty &, o o1 o v R A S R 8 2
(A) sfEor (B) ufim IR (D) S

Which way are you facing now, if you s% 270 degrees clockwise from North at the beginning ?

(A) South B) West (C) East (D) North

T TITIE T o) wiied & a1 ot ﬁqeé a&ﬁaﬂtmmwmmw%‘laﬁm
maﬂtﬁamgmélmaﬁ saw: g i dewee

(A) ufEm-qd (B) IW- (C) - afiym D) <R _ 3

. ., Anathlete starts o run pos1tron1ng his hack towards the Sun once after sunnse and once before sunset. He
' urns left, right and leﬁ agam 'In which dlrectlon 1s he\ﬁnally runnmg in both scenanos respectively ?

(A) . West — East '\ (B) North—West . (C) East—South h/\ (D)’ South North

AT o w N LN WSS,

R e T R et



ﬁqnqusqﬁ;m_m = 3276000

Rrrrferfiaa TR BT STERE iy o A e T 7 1 S AR

Tsd Tor qran frer % STAEI
3 7.
A S 3 2 7 25%
B 3 1 1 4 20%
C 2 3 2 1 8%
: D o™
; 3 5 3 " 2 12%
E E 3 4 4 O 1 35%
:
? — =
| T@A.BﬁtDﬁ@Eﬁﬁﬁwwmﬂqﬂﬁﬁaﬁﬁm%ﬁﬁﬁmﬁﬁﬁ?
Study the following table and answer the quest@ given below. |
Total population of the given States = 3276000,
State Gender. Literates+| Illiterate | % Population
M SR i '
A 5 B FEREN ¢ 1 T 25%
B 3 1 1 4 20%
o 2 i 27 0| i 11 8%
D 3 s 3 e ST 12% |
E 3. A 4 Mlvn 35% .

A) 35.1%

first :

(A) Electrode

10.
(A) Acerty
11.
¢“INCIDENCE’’.
(A) IZN,C; Dy Ey
K.WU-24

- ®) 3115%
0. Trefafad wreat o il vreaehier # 37 A

Arrange the following words as per their order

Elastic; Eldorado; Ejaculate; Electrode
(B) Eldorado

FferRa i & fare roa 3 orere Siref aotrTer SR & 2
Which of the following words has its letters in E;h% English alphabetical order ?
(B). Acepots l;A L {} (C) Acephal

few Mg 715q “INCIDENCE”’ ﬁmmm@%m%wwﬁaﬁwﬁwﬁmﬁq |

Identify the correct alternative that indicates \&J number of times each letter appears in the given word

@)
a

(B) ‘I, N; C; D; E;

LS

th t

What will be the percentage of total number of%les in States
of all the given states ? - :

(©) 30.2%
SR IR S ST Uget 3T & S8 g :

he Ehglish dictionary and choose the one that comes

?Fi: (C) Bjaculate

(C) I3N,CyDyE;

A, B'and D together, to the total population

(b) 30%

(D) Elastic

(D) Acerous

(D) I3 N>.C1-Dy Ey




12, iR & #, st shor 8 Rt < e de Rt @ =R 2

In the corporate sector, what should be the approxinft,;za

]

number of degrees in the central angle ?

chérs
4%
“\Bank‘s:f o
12% s, i
TRDANG -
) Corporate- LRk ] :
. Sector Q A % o Ao 5
| 34% ‘E‘a M) 4
T @ @ ‘ .
@ 123 . B 121 | % 122 D 120 :
13. 2401:343%%@@3113%@ i Y : ‘
Find a pair that is similar to 2401 :343, |~ ol _ |
A) 32:4 (B) 256:64‘];'{:‘ (©) 9:27 D) 216:1916
4. QAR e ]
Complete the sequence : , ?ﬁ%‘
ZA8,Y7B,XC6,W5D, ( -
(A) VE4 ~ (B) Y4B € WaD .  (D).zA4
L : - A SRR M
15. ﬁm%mq@mﬁ@ﬁwmﬁﬁq:_ b
Find the missing number in the following series : | @) RN
110, 132, 156, , 210, 240 ‘
(A) 190 (B) 184 % 182 (DYFUIGRsTitt -
KWU24, R e Y Page 4'bf 24



16. =i fo e Fort ST st 3 wiaiyy 3 et fored TR
T

ST RASIFTET ST s fre s Rt 1 Sl o e o | ) 7% 35 7 T T A
ﬁwqf@ﬁ? , Tiier 1 R 15 wifemady 3 € e i e e |
L wfecell i e S anlie st #f o T o Lo
L 3 3 15% Sl off aife s et 4 FRTHE-0 o |
(A) T P LTRT R 11 rperor v & ) e e 11 SFeer T 8
(©) A Few I 1T oo s & D) e Pt g @

Identify the correct option regarding the statement %x}d conclusnons given below
Statement :

In the rural assembly electlons, the ballot b method was used for voting. After the results came
out, it came into light that only 15% of the w@en in the v111age voted in the elections.

Conclusions :

I Women didn’t know about the date of the eleq:i]o

II.  Only those 15% were reglstered and had a valid votmg ID card. :

(A) Neither conclusion I nor II follows g (B) Only conclusion II follows
(C) Either conclusion I or IT follows Rl .SD) Only conclusion I follows

17. Sr= ufam femmd 40 rﬁaaam% ﬁ;(arquw%sf%go rﬁaaﬂtw% | aem%ma‘f%aéﬁaﬁaﬁ
wen R RmAz?
(A) 4a7aEROr e
(©) asHeTd g ghp) 41 HE I s
James walks 40 metres in the West d1rect10n turns and walks another 30 metres. How far and in which
direction is he from his startlng point ? ‘

A 47 metres South = ; @) 50 metres South West
~ (©) 45 metres East | ‘ @) 41 metres North'
18. A% ‘@ Fr It =+ %’a‘r15@5'«=r'211%9 s R ‘
If ‘@’ stands for ‘+’, whatis 15@5 7 - i * '
(A) 3 ®) 10 (Cy T5ht A ) 20
19.’ mmm@mwemw*ﬁwemmﬁ@mwmwl

Choose the correct sequence of mathematical. sigmito replace the placeholders * in order to balance the

) sorﬁaaﬁqufstr

given equation. ) : ; :
(12*%7*6) * 13 * 6 BQ

Ry sy e T SRy BEL T @), R

20. T A 6 fefi/ee i s ﬁﬁﬁﬂ%aﬁwﬁr@rawaﬁw%%wﬁaal% 2 qEST Y IR FA A 11 Fehs AR
10 Ve T GHT At & | 27 Y 7T e ShITSIg |
(A) 17 ferei/eer (B) 20 frdfieer ﬂz) 18 ferwt/eier (D) 16 fesfi/eer
A train takes 11 seconds and 10 seconds to cross 2 men who are walking in the same direction of the train
at the speed of 6 km/hr and 5 km/hr respectively. Find the speed of the train.
(A) 17km/hr' (B) 20 km/hr (C) 18 km/hr (D) 16 km/hr




21.

22.

23.

24.

25.

26.

27.

28.

29.

TS WH T 1 150 TReAT & oy o ey 3 | YRR, 15 FSIGU 6T STAReIfy 3 0T 5 165 ﬁ:ﬁﬁt@%‘"
AT | S AT <Y SRR T off poy L

(A) 150 7STgT (B) 165 Hsiex ¢ C) 1557SIL (D) 100 AL .
Some workers could complete a work in 15 ’.E%;ays.( However, due to the absence of 15 workers it wag
completed in 165 days. Then the initia] numbcg“Fspf workers was : »

(A) 150 workers (B) 165 workers ¢ (C) 155 workers (D) 100 workers

A, B 10% 1t B a2 & wrermoor seimer v 300000 9 31 B 1 5 757 35 e B sperar Ry 6T OO Y 3
ez 40,000 aﬁt@q@ﬁm%lﬂ@w@%aﬁml

A lends ¥ 30,000 to B at the rate of 10% per giifjum on simple interest. After 5 years, B returned ¥ 40,000

and a watch to settle the dues. Find the price oF'the watch.

(A) 3,200 (B) %4,800 <| (C) %3,000 ... (D) %5000
AaﬁTBQﬁ?Eﬁlﬁﬁloﬁﬁﬁwﬁﬁ‘(ﬂﬁﬁlBaﬁTCSﬂISﬁﬁﬁaﬁ(m§lA3ﬂtC3@flzﬁﬁﬁWW
%lA,Baﬁtcﬁwsﬁﬁmﬁﬁﬁﬁwwm%? il

A) 17%= @B) 157 (C) 8fa . (D) 10f% .

A and B can complete a piece of work in ‘lmaays. B and C can do it in 15 days. A and C can do it in
12 days. A, B and C together can complete it ithow many days ? =

(A) 17 days (B) 15days '(C) 8days (D) 10days
TTERT TS W 20 6T # wah ST SR THT 1 3t & | e o0 91 i | A

A sum of money becomes four times in 20 ye%ﬁ% at simple interest, Find the rate of interest.
A) 8% - (B) 20% @) VO 5% L D) 15%

T S T AfSt T 3 ST T & 40% aqﬁ:%ﬁ% | T g2 ot & foraeft B =feq afie 1296 wmr ST e % 2
The printed price of an article is 40% higher@n its cost price. Then, what is the rate of discount so that
the gain is 12% profit ? 6 e 2 : 3 i :

(A) 18% B) 15%  (C) 21% e (D) 20%

Toh 8] I X 1,700 H eI 9, T THHER T 15% 1 w1y St 2 | 20% T ST A fe 38 36 g A
R TIT d SR PR (B8

On selling an article for ¥ 1,700, a shoi)keep’éﬂﬁloses 15%. To gain 20%, at what price must he sell that
article ? : J ‘ :

A) T2,100 (B) ¥2,120 - '353 © ¥2,400 - D) T2,155

Teh & foIshaT ¥ Weh Gieh bl 10% 1 §TFT Tgterr | % 978 59 % 1,080 SRR TT =, @ S 10% 1 e
e | G <Al < g1 shife | <)) . =

A book vendor sold a book at a loss of 10%. he sold it for ¥ 1,080 more, he would have earned a profit
of 10%. Find out the cost of the book. i ;

(A) 7,400 B) 5,400 . <, (©) 6,480 (D) T4,420

Teh TOeTT H 8 ST GHT ITH 37T T STRd 5.1 9T 31T 9 31T ST 7 6.8 o7 | 17 BT & NEd AFRT Y 2

The average of marks obtained in an examination by 8 students was 5.1 and by 9 other students was 6.8.
The average marks of the 17 students were:: g e ' i
(A) 6.5 (B) 5.95 : 4 (© 6.0 ¢ - (D) 59

I SHHTTA ST UTiehT ohr e 126 % | 3 & e oier qurter a1 & 2

The average of seven consecutive positive integers is 126. The smallest of these integers is :
A) 126 " (B) 123 (©) 135 (D) 122

K.WU-24 : : Page 6 of 24
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30.

31.

32.

33.

34.

35.

36.

37.

38,

e ikttt E el R R ladidbaddiad it

T o A T I T Sy 3 ;421 4R w10 e qur 3N 10 et ) fren &, s 4 ;5 ST

%lmﬁﬁ@ﬁw?ﬁﬁﬁﬁwﬁrﬁeﬁ?
Q) 80 eftet : (B) 70 wfex (©) 20%h= (D) 50 e
The ratio of milk and water in a pot is 3 : 4. If we add 10 litres milk and 10 litres water, then the ratio

becomes 4 : 5. How much quantity of total mixture was present initially ?
(A) 80litres (B) 70 litres (C) 20 litres (D) 50 litres

ASB R F AT TS | aR iy A 3 7 o 5 S 2, A e 60% g S ® | ARk B A A BT
T R ST, T A 31 B 3 et Srotey oby it 7 FeEps o6 &) S 7

A and B are two heavy steel blocks. If B is placed@ top of A, the weight increases by 60%. How much
weight will reduce with respect to the total weight offA and B, if B is removed from the top of A ?

(A) 37.5% (B) - 45.5% i ng(rg) 40% (D) 60%

o YT 23.6 TR/ S et @ e e 1 30 R el 3 | 3@ e, 7 M, 12.4 Ffie B
=Tt & ferelie fom 3 ST et v wafen 1 11 ek A et & | Yot Y s 3T AT |

(A) 1204t T (B) 110 (©) 105, (D) 150 HT.

A train running at 23.6 km/hr takes 30 seconds to p§é‘§ a platform. Next, it takes 11 seconds to pass a man
walking at 12.4 km/hr in the, opposite direction. Find the length of the train.

(A) 120m (B) 110m (C) 105m (D) 150m
10% 1 ¢ 393 718 8% T AT W 7 3 R, et & SifRhe e 1 ey sftrerar i T =t 2

To gain 8% after allowing a.discount of 10%, byﬂ%lat percent must the marked price be hiked from the
cost price ? : ) g

(A) 20% ‘®)H1% o Clo) 18% (D) 19% :

AR BH A HIATAA3: 28| = o w71, TR T ANTEE 80 B | SR SIS TR (T ) T
Aot 8 2 T S

The ratio of the ages of A and B is 3 : 2. Ten yeargshence, the sum of their ages will be 80. What are their

respective present ages (in years) ? f
(A) 45,30 (B) 36,24 (o) 42,28 mAR(D) 27518

T S % 3,825 SR ST & 7 A < T gy fobedt 8 U e o 34 # | AR wwRafs s (iR
TR ShY TR % 4% B, A Tedeh fohed T 7 T4 ehifiC |

A doctor borrowed ¥ 3,825 and he returned the money in two equal yearly instalments. If the annual rate of

. compound interest (compounded annually) is 4%, then find the value of each instalment.

A) T1,783 B) T2,377 (C) 2,275 (D) ¥2,028

T8 T2 T T BRI ST 24, 48 3 60 { Gfar: Feree A |

Find the smallest number which will be completely djvisible by 24, 48 and 60.

A) 0 (B) 240 C) 480 (D) 120

T 1 T STRIE STy AR HY 12, 15, 16 R GF A GfRE F @ G I FET e | AR 9w
AT & foh 3 ok Sr at # of s R, Y = AR <l e I I | ;

An officer of the army wants to arrange his soldi@)to stand in rows of 12, 15, 16 and 18. If he wants to
arrange them in a solid square also, then find the n@mum number of soldiers.

(A) 1440 (B) 3600 (C) 900 (D) 180

3 TSN T AR 36 & 3T SThT WA, (HCF) 4 ® 37 T3 % foha gm Eva € 2

The sum of the two numbers is 36 and their HCF is 4. How many pairs of these numbers are possible ?

A) 4 B) 2 © 3 D) 1



39.

40.

41.

42.

43.

44.

S5 3 31 T Gﬁr%
% T s g o o e v 43 8 ) e, g A T ;;f;aﬂﬁaﬁ 2 i
9, Ten sl FH AT AR | &, %qaﬁtﬁresa:aﬁaﬁaa"r%lﬁﬁ o)
(A) éa (B) a%ﬁ‘ (C) edlate leﬁ of Betty Charll
Six friends are sitting in a circle facing the ccmﬁ.\t\dam is sitting to the i mlr)n i It B betWeen De
sitting to the immediate right of Frank. Betty is Hihing between Adam and Dan.
and Frank, Who is sitting to the immediate left L%:, rank 7

i

(&) Eve (B) Betty o~ (C) Charlie (D) Adam |
S Y 7015 3 P | e o g g3 A2

(&) 1425 Tt C) ®) 127 5%;1‘1

© 1225 fh @) 130 ferft i

A clock shows the time as 7:15. Wlmt is the anglq)etween the hour and the minute han

(A) 142.5 degrees : (B) 127.5 degrees

(C) 122.5 degrees ‘ 6 (D) 130 degrees

T B 3 o et 3o e wﬁaﬁnaﬁﬁr‘ﬁla%wﬁm48 et o sy o, zﬁwﬁﬁmm
T T I foh 2

A student made twice as many mlstakes as he got correct answers If he attempted 48 questlonsjm total,

how many questions did he get right ? gtk %\

A) 20 4 \ @ (B) 16

(€) 18 ‘ fii CJ (D) 12

wAfsmeama B EHK 72 < ‘ i on | Al
What comes next in the sequence : B,E, H,K, ! ? : o
A) M st B Ry i © L - D) N

oY BT ST QUi B R S 12 e 16 %%ﬁﬁm&r% ?
What is the smallest positive integer that is diviSible by both 12 and 16 ? ‘ ':';f:’f )
A) 16 (B) 60 (C) 96 (D) 48 f

STTeAT STTRf I hIfvTT |
Find the next figure.

A O@T%CHY




45. ﬁqmﬁwﬁﬁwmwwwsﬁgﬁwaﬁﬁr@ﬁ%ﬁﬂmwﬁm

From the given options, select the figure whiéiswill be most suitable to be placed in the last square.

(gﬁ?b

)
(4) / ® | g=

Ed

"

&l

s

AC@=T

© | g (D) (

. 46, GgH R
e EHE RS IR LiN ‘
(a) e Egen  B) fo o © IS (D) fomor
Complete the analogy : ' s
Doctor : Diagnose :: Judge : (D
. (A) Instruct (B) Judgement "*w‘?, (C) Execute (D) Build
47. a@wwﬁﬁﬂ ?«‘_}, )
(a) e ‘.'L"lvz* 48], B) o
© s | g o

Complete the analogy : o | ; G : I
Algebra : Mathematics ::hsgfrnphc‘iny i s

(A) Literature : ’ TN - (B) Pamtmg
(C) Music ‘ R e :ﬁ; (D) Sculpture o

45, i s e s i TR (RGO S o 98 et wer @sﬁﬁ)%é@ﬁmmﬁm
() 3 ETe AT A 8, ﬁmmw@%&sﬂ)wmw%? S
(A) T () Gl g @) S ()
(© e (Herii O o=wes
If you have a regular dodecahedron and you 5{:36 it in half along a plane that passes through the centres of
opposite faces, what is the shape of the cross-g&¢tion ?

(A) Rectangle S - (B) .lHé‘:angon
(C) Pentagon % (D) Decagon
49, frefafaa 3 & wsdi F A SN a??fﬁaa% e R
(A) FHd —H= L (B) wRA-EE
(C) T — A (D) Isvael — AT
Which of the followmg pairs of words are most similar in meaning ?
(A) Soft— Gentle (B) Hard — Easy
(C) Buy-Sell (D) Bright — Dark
e S A SR T 1 Pagel0 of 24 - ... id e
3, ‘;; y

[®




50.

S2.

53.

54.

.\0
¥ QU Hifsre 3&:
WA @ TR geeht: 9 O
(A) R B) (@ sterbRe (D) T
Complete the analopy : {‘:}.
India : Asia :: Italy : ? @)
(A) Asia (B) Afvica (C) Antarctica (D) Europe
G A 3uTelt Wt Fay Qi <|
@ 9, 27, 81, 243,
What is the next number in the series ?
Series : 9, 27, 81, 243, S
(A) 591 (B) 623 (C) 729 (D) 486
SESUCIEINRICE SISl o
Find the next figure. s
* ol[H *|[v m Q
PO
m All> ol % e
> e ® x| dre _ | |
@ ® | o ®)
B x A m * 1 > e
forwmr 1 e | |
Find the odd one.
(A) ey (D)
A T TRTT & G, S 3 g, oo B <1 3 e o1 0t ot ver 7 | ey, v & Ry ST w2 9

(A) ‘MR (B) SydiSTT (C) W™ (D) s

Introducing Sarath, Anila said, “He is the son of the daughter of the father of my uncle”. How is Sarath
related to Anila ?

(A) Son-in-law (B) Nephew (C) Uncle (D) Cousin



55. Wmﬁmsﬁﬂﬁﬁww%

Identify the figure that completes the pattern,

P

(X)

@w X ® X

56. R fF i fmgady

How many squares can you counit in the figure ?

@A) 14 B) 20

57. I, I, TII 3R IV Si{ha THET STl sl samdes 3T
(©) 37 (D) & Rt swe st i & 9 ety g st

© 1

Study the problem figures marked I, II, III and IV carefu

completes the series.

50| 21| =

I 1 m A\
(A) |] B) N
58. ‘mwﬁs@,ﬁm%:
(A) 3Ed B) Ta
59, 3TgUA W HI TR A& E :
A) 9T - (B) ScHT®
60. frefaRaa e 3 e aet era srarse |
-1 STt & TAfSSTd HET |7
(A) IE-aT g
(C) T |
T e e NP
¥ {

Page 11 of 24

o~
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o X
®
-
<

T#%

—

(D) 22
i 3% <t gery wnfua FiT 1 (A), (B);

T, P HE ST §9 & T TR |
to establish the. relationship between them.
From the answer figures »marked (A), (B), (C) and (D),

¢k out the figure which most appropriately

[ = 4



61. ‘ﬁma@r’%aﬁﬁmeﬁﬁﬁswmm%? R
-~ (A) STRFRRA DA A : (B) BIETHE S«

(©) Bl g Tk FHe T IS ‘ (D) ol =T =R g
62. WAL 1T % YT 1oq 1 = iR |
(A) wEF (B) W& (©) fremeR (D) =R
63. TN (SH=re) TR T R 2 |
@A) ¥ @ ¥mgm it (o o (D) <
64. T ety fomer T il ot & 9 ik
(A) gt (B) e =t (w) (©) TEEX (D) "t
65. Wmﬁw%ﬁﬁﬁ%mmmwwﬁmﬁﬁm
TR FAHORSE -\ @m- mﬂs'qsqﬁsqqm)
(&) SrghH ® e W) (D) STTE
66. TR ST H HH-9T I8 N, %@wa&f‘%&wa‘rm?
A) @ ~ (B) ¥} AN (C) v+ - (D) A
67. TH JATHIQ FFHT i FAFR BT E? . ;
A W™ . B asmnma?ﬁ (C) S TR (D) I
68. Hfeew ey POl e DTN A |
(A) g o (B) ?m%r 3?*3’ " () @ vhe o (D) WEE
69. Hﬁmwﬁ@qmmﬁm%? - E:;; AU LT T e
A Wi Ty w e R ofee s T gy 'y
70. IFTEr H THE R : ' %»i el
(A) qeIES ®) B Q © weEE | D) '=
71, 1992 < TR 5 st 8 3 2 %f] e |
(A) FeAREOT T ® @ Reweie
(©) m?‘aﬁa X . (D) RRIESIERIL
72. mﬁgﬁz%aﬁwmaﬁam%? \ -
(A) TEEEISIEE? Z:fif ®) e RE e 0
(C) UGAFNFTIRL? (D) TG FTHFEIR ?
73.  hI-HT TS U meﬁwm%? C{,’f |
(A) T ®) r? ORI (D) W
74. FrfaRea 9 & HH-ar srufawr 2 2
(A) TN (B) ‘? ©) §&F (D) T9H
75.  Te o ST SR ot o o, WWW%WW% T HH-HT T BT R 2
(A) ToETe B) Fqara | (O WEE= (D) warsy

76. FAfIRea d @ -1 s FT AT TE R 2

K.wU-24 Page 12 of 24
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77, Tt — TG ¥ % e wet o7 g g :
Ay Feei-fd @) TE-T © fo_famh o @) -
78. S 3 37 1 T Y Tt R AL E o :
1(If)ar CEEIRER] (B) ﬁwﬁfa?{?f:m (©) ARG (D) Te R

79. WITIL: I -
| (A) sRfwEEE  (B) a&‘ww@ev (©) ferawmter (D) THHIEE
80, g vied - E 7 @
(a) et BROR . © Ffeae (D) o
ety § RH-E W E ?
o R ® O © ¥ ©) T
gy, <o T SEY SRR o Sef e BT @ 7 |
(a) ww Rt ; (B) hiehl T
(©) raTa i R ‘ ‘ (D) W& @A
. 83. Frers’ T THR AT IR © ? .- -y U |
(A) R ® @& H O ®W (D) Acwd
S4.  IaTE SISt TN 3 et A RATH A E 2 1 ‘
(a) AR ®) w58 (©) wwEREr @) gl
§5. 3TV YTea! oh o7 ek S ohl =TT <hiorgy B
fRT@mIswEs @) i SN ' o
(4) ERE ® WeF (©) e (D) At
86. TrRaa A YHT-ATHTINR? 4:1 s e
@ 3 ® I © « R
87. SV FRTAHTHT? _ . , i
() W ®) (© sk (D) FATEH
88. TawS’ VIeg I AT W6 TARY | ) (i R ile i
(a) e ®) = g ©) e . (D) i
89, ‘SHISY T YA TG T ¢ ® g
(A) &4 (B) T = (©) fed (D) =&
. |. 90 @ 94 TEII9T T : &y ,

e S <6 e 3 T Y e T ) e 7 e | i e v < e 3 g A A A
ST 2Bt e R By ST o R | $ TR 9P aehrcli e  SifeRT, &, forew, e, f et et =B A
YT % fmtor <t Som & fon wft s T ST O | 3T QAT R OIS O AT IS W
e T ET ST AR 3 R re-Retor 35 R 2 3 ForTer e oy fR e e o € | SR o
Wﬁmﬁ-ﬁﬁmﬂmaﬂwﬁeﬁ%mﬁﬁwﬁmmlé‘ﬁ@mmz off wa= W
TETer # 55 7 5 A MU E, 37 g Ry 3 e sl oft stferrd 2 S | 3TaT: G 6T eI AT AR
TTeT G 7T € B ST | SR e i Aot o T E | wrere 3 Rt 3 S R ot T, 3eh %
wmﬁmwmm%ﬁﬁm%mmwﬁ@ém%lmsﬁqﬁ&wﬁﬁmw
S Tt 3 ST ey AT Y SR | S e 3 vyt ek SRt Teieh S feredt-FerTeT B e <k R TR R |
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90.

91.

92.

93.

94.

9s.

TG-S T ST et e R AR E 2

a.
(A) TR VR 3 FHROT ‘ (B) mmﬂmﬁ%%ﬁ
() mmmwm%ﬁwa (D) STttt Bt 3 et
Yok g ol F R 8 § e STt
(A) 2 et e g Sty s ®) m@ﬁwmﬂaﬂtwﬁmﬁwgﬁ;ﬁg'
(C) 33T & weTHY 3R el Sy s 2| (D) Nt 3 vreTer 3 g8 § 9
T TN T A TR ? O
(Aa) e s fva mi (B) %ﬁﬁm@ﬁﬁ'@g
(©) fadar fowa g it fonfifem (D) STTelgey ST e T 37
T AT sy wrere o s ) o fraydr e @
(A) <3 <t ureaRes whreget Y (B) st < Rremr
(©) W ¥ Ry » (D) aﬁr&ﬁﬁ
TSH ST ST ITAT N6 T o T hil 5T 7 [
A) i H e d (B) ST Y 31 ik ohY T

(©)  STfeht, &, i ofte whiw ot whwat & (D) Wﬁgﬁqﬁwﬁmﬂ?ﬂw%

3*¥4FHJAR 3, 4Fr AT R
3#AFIASR 3, 4 H TR
S@A4TTAAR3, AT WER
3&4FHIAR3 4FAANT|
3+4FIAR3, 4FTR

L@M&N#0+P*Q#R%éﬁﬁr{ M, Rﬁrﬁmmw@&%?

Q%O#?

(A) g ®) Wit (© wEh (D) wiefis
3 *4means3 is the mother of 4. i <J '
3 # 4 means 3 is the father of 4. ‘

3 @ 4 means 3 is the brother of 4. ' |

3 & 4 means 3 is the daughter of 4.

3 +4 means 3 is the son of 4. . § o
AccordingtoL@M & N#O +P * Q#R, how1sMrelateg®R?

(A) Aunt (B) Nlece : © Ugme (D) Nephew

96. W3 aﬁa@ﬁammwr@;"r%m sa'%a%aﬁas‘aﬁ@ﬁmﬁ TR T HTl 2 | ?ﬁﬁ:{ﬁﬂ'@ﬁﬁ?

Torar femm <t ok o et 2
A @) or () ?r%qu (D) W

Ramy put his timepiece on the table in such a way that at 6@3m the hour hand points towards the Souﬂl
Then towards which direction will the minute hand be pomtq:g ?

(A) East (B) South ' . (C) Sq \31—West (D) North
97. afe qd %I 9fdm & sew Rear s, A 3fRor-afin s forees s s R stra 9

(A) uRm (B) Iu-ufim ©) S (D) aforge

If East is replaced by West, then South-West will be replaced by :

(A) ‘West (B) North-West (C) ' North-East D) SOuth—East
T B T 5 7 17 7 S Y




98. TN HE&AT I IR | . ;1;
Find the dissimilar number, C)
216, 343, 504, 512, 729 '»‘2
(A) 504 (B) 216 w,}C) 729 (D) 512
99. _’ﬁéﬁmwwmaﬂom%m%&?m%ﬁr@ﬁm%gﬁwmqﬁmﬁwwﬁhw%
25 -
201 17l
E; 154
5..
0..

PF
5

If R SRR 2,55 wﬁg%a‘mﬁaﬁ ST ;
(A) T42.5919@ (B) T50.5 W@ ) %35561@' (D) T32.591@

The bar graph given below dlsplays the percentage dlstnbutlon of a company S total expenditure across
various expense categorles for the year 2013. '

i 25
251 5
g 21 113 TS
~ 154
T 10- '
o
& 54
0
E R £
E é o A -
£ 8
> 172}
E g Eé

If the expenditure on advertisement is ¥ 2.55 crores, then the difference between the expenditure on
transport and taxes.is :

(A) %42.51lakhs (B) %50.5 lakhs (C) 35.5 lakhs (D) %32.5 lakhs
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e P R e G N T T 0 R L e =

100. =3 P 3 Q T 3TqYM 5 : 6% 37 Q 3K R ooy syt 14: 15
If P and Q are in the rati05:6ananndRar§}?, the ratio 14 ¢
®) 9:7 oo 7
pos @Wﬁﬁmm%mmm&&iew
R STt S O T ST ey oy S & |
& () 220 Rl
flk stops of

S'jhc bus without any stops, the
be 60 km/hr. How far is Coimbatore from Koclti*

A 8:7

(A) 250 frrft (B) ' 300 feprft

A bus is going to Coimbatore from Kochi. Wi
comes out to be 50 kmv/hr. But if the driver tak

3 @, o bl
GEEARIETAY

15 minute

?ﬁPaﬁ'{RWagqﬁwaTﬁ?

15, then P and R will be 1n the ratio -

8 @ 7:9
v e 50 TRHI/ER B

(D) 290 fordt

g each, the average speed of ¢
average speed come

(&) 250 km (B) 300 ki [ (© 20km (D) 290 km
T TN o ORI I R
e — e
== e
& E————————r ]
4?30 T LA T poooooaRoed
e

oW
E S N - - - - -
E RETLT, A ST g
: \. G i W |
o0y D) 2001

SeaTfed S 3 e HEAT = 350000

| 0 &%
Total No. of Cars Produced = 35000(?{:}

S T T e TR (SR =) e st g ST it oa STET-STHT TR 6t i e el e

ST HIT <Y FeT HEAT = 440000
Total No. of Cars Produced = 440000

EJu
BT
s
BAR

lQ
CJp

S out

i 2001 & P 5T 1 T 1 e SR 20043 T e, At 2001 3 it p e oy i ) e A

T 2 il

The Bar chart given above shows the percentage

Lf six different types of ¢

over two years. If the percentagé production of P type cars in 2001 was the
would be the number of P type cars produced in 2001 ?

(A) 225000 ' (B) 132000 (C) 145000
103. T forefm ht a1 3 92 3 o 35 WL A1 T T Weer 2
) S (B) W (©) =

How is my father’s sister’s son’s father’s father-in-law related to me 9
(©) Grandfather

e oy - " " = . . e v e e e ee e e e e e e e e P L T

(A) Uncle (B) Grandmother

e~ cawa

ars manufactured by a company

same as that in 2000, then what.

(D) 120000

(D) far

(D) Father

.
P
e —————



104. ﬁﬂ'qgrq‘mﬁﬁﬁq i il ; i e

(A) A : T (B) TS : FTHH

(C) BRI : W (D) 9T : ATIHT

Find the odd pair : '

(A)  Barometer : Pressure '&,*g. (B) Balance : Mass

(C) Screw gauge : Volume gk (D) Thermometer : Temperature

105. @ 1,2, 6, 24,_«_1‘1‘3111@14@13113@&1{0
O

) . { : -
Find the next number in the series 1, 2, 6, 24,8 |

(A) 120 (B) 60 L (C) 84 (D) 48

106. T/ %1 5= 15°en, 2022ﬁ§mm|wa%ﬁmﬁw@wﬁmw1ﬁﬁw-wmﬁq§w
o°qr ?
A) TRER ® wew | (© 3w (D) T

Siva was born on April 15, 2022. The same year Independence day was celebrated on Monday. On which
day was Siva born ?

(A) Sunday B) 'Tués'day 1 (C). Wednesday D) Friday
107. SiEw 211, 227, 233, 241, ¥ eriett | \‘m-ﬁﬁml |

Find the next number in the series 21'1 227, 2 241
A) 257 B) 263 - i i(C) Yy 277 gt (D) 251

108. Ife SCREW i Rcsw%mﬁ%@wﬁmms ﬁwm%@rw
If SCREW is written as RCSWE then NAILS*will be ertten as :

(A) IANSL ~ ® amNns @&  (© INALS (D) NAISL

| 109. ¥@a 13,32, 57, 88, ﬁmmw‘aﬁ%m 5 b oL\ S 74
Find the next number in the series 13, 32, S7ERR. |l e P ' ' |
(A) 136 vamyash LA BN (o kv (D) 110

110. @ammﬁm?ﬁaaﬁaﬁt%ﬁmém 8 7%%1‘?%1%\%@@@1{@6&% =g A & Uia:
TRHTY o T 28. s%ﬁmﬁﬁﬁzsﬁwﬁ@wwm%lﬁmwmw%?
A) 8460031‘?11& (B) 189600 T 7B ©) 99600a1‘f1ﬁ (D) 79600 = .

A rectangular field has its length and breag'k in the ratio of 8 ;7 respectlvely A man riding a bicycle,
completes one lap of this ﬁeld along its pe@eter at the speed of 28. 8 km/hr in 2.5 minutes. What is the

area of the field ? B“
(A) 84600 sq. m (B) 89600 5.7 M, (C) 99600 sq m (D) 79600 sq. m

111. afe e CATASTROPHE%MﬁWﬁgJW%mW% A G ET & 1S FHIF-HT TR
T 35 & BT 2

If the letters in the word CATASTROPHE rearranged in the alphabetical order, which one will be in
the middle in order after the rearrangement 5<T i ’
4) 0 " (B)-S ©) H (D) P
112. A FEMALE #7 654135 % 0 § sheeg fhar smar &, W LEAF & W et foham S |
If FEMALE is coded as 654135, then LEAF will be codedas
(A) 3625 (B) 3526 (C) 6523 (D) 3516




— ]

113. TR | T -91 388 Tsafy 3 aqrar 2 <61 91fth & T 8 2
(A) IT=T 75 (B)  TT=% 73 (C) ITT=De 74 (D) T34 72
Which Article of the Indian Constitution deals with the power of the President to grant Pardons ?
(A)  Article 75 (B) Atticle 73 (C) Article 74 (D) Article 72 S

114, guw%aﬁﬁ Sereh-&-31Rre w Ry s Y 35 Rore 8 aTeer % e Pt shl @ SR ST STHET %
(A)  TFHI forsgywor @) TR L ‘
(C) W STgEy™ - () s e Ll 4
The research that applies the laws at the time of ﬁc]@}tudy to draw more and more clear ideas about the
problem is : " &,

Applied research

(A) Research analytics :
(C) Experimental research D) Action research

115, TSN e ssiRugdy {
(A) SWRY (B) ufdm e ) e R (D) AT
Where is the Central Agricultural University situated 2 |
(A) Uttar Pradesh (B) West Bengal ("C'J Andhra Pradesh (D) Manipur :

116. ST TRVS SIS TR 3T STThfeeh T 1 Taferd et 3 36 Hag et £ 2 ’ ,
(A) yiﬁm@ﬁm%mﬁﬁﬁammsﬁw SATH{ER 3t o fore st S farfert bt Fafma e

(B) mehfess & anfiler faemmar st diamer frmdor sediemar 23 T eam S w0

(C)  ehfeeh Tl o Steeidter st shr e s Bt

D) W%ﬁﬁwwqﬁwmwaﬁ@mm ;

How does the Arctic Council help in addressing climdfe change and Arctic governance ?

(A) By regulating as a governing body that dictates.laws and regulations for all Arctic nations

(B) By focusing on promoting economic developmient and resource extraction in the Arctic |
(C) By coordinating international efforts on Arctic{%(%gues‘ ’ , L ' :
(D) By levying sanctions on member states who ax:ﬁ‘ijot‘éomplyin’g with environmental regulations

117. ¥R % Joq Tgafa 6 & 2 i : o "
(A) o T vt R ““t‘El) <t SR g
©) whmuiem A (D) <. TN THe
Who was the first President of India 144 2 !
(A) Shankar Dayal Sharma " (LT ?%) Dr. Zakir Hussain
(C) Pratibha Patil EE) Dr. Rajendra Prasad

118. weFd wffawERm REy: e
(A) IRFeIgE  (B) wewihidmTwE () See s (D) R AT AT
The primary aim of a co-operative society is to': 2;53 '
(A) Raise more money (B) Serve the members C:{g(}) Raise production (D) Earn more profits

119. Tger e  for Frferlea # & -t wieen ey 2

Which of the following institution is responsible for ¢yber security ?

(A) DRDO (B) CERT-In (d) NIA (D) RAW
120. Bftea fre 3ar B o 2 2 <]

(A) ST (B) wimRsr (©) «f= (D) AETFR=TT

Sofia is the capital of which country ? ‘ ‘

(A) Bulgaria = . (B) Bangladesh . . (C) Benin (D) Afghanistan
O




1. e :
12 Twﬁm% = el 1 o e e e BT 2
Who suggested that “Eve(B) ng s Eﬁ?’ © st D) e
A) Landsteiner O has. . spec1ﬁr:‘;}>~_lood gronp |
: ®). Louts Pasteux(:) (C) Darwin (D) Mendel
122. AHATERR H SHT I & - i3
. st ot L b S
Human rights entail both : R (%Ii o *
E‘é; Ezrttslzs an' 'Ok.)hgations 2] (B) Rights and obligations
nd privileges ' (D) Liberties and privileges
123. ?ziceth%ﬁﬁ?ﬁﬁTWﬁﬁﬁﬁﬁﬁﬂf{HW,ﬁﬂg-m%@ﬁﬁ?
T A%&h
(B) S SSi|
(©) Toriiem e O TS
Who co-founded SpaceX — the ﬁrstvprivatelg‘%gnded space programme ?
(A) . Elon Musk ¥y i (B) Jeff Bezos
(C) BillGates . ATk SZ (D) European Space Agency
124. AT T AT T2 T, oo 39 1ok O v o 3 For STT Srar 8, S fordt wmesfir weefter et
%%{Q@W?ﬁ%{mm%v St 3 .
(A) ¥ (B) wEEIR €& (o T (D) refee
Which ancient Indian text is known for its d{éﬂled treatise 0;1 music, dance and drama, and is considered a
foundational work for classical Indian arts ? . '
(A) Vedas (B) Manusmriti "‘] (C) Natyashastra - (D) Arthashastra
125. Sfatisdi qAfior ue forehre s (IBRD) #1R 2 ,
(A) TR T A Tre & St Afrer Sfi yomedt o6 fafem it wewr e
(B) % o ek g Tt & S TYeft ST S Ao e v e S bl §
(C) T8 T Afirer forclier e & S B e HgshIRIEd o SEH Gl 8
(D) TETH Sferisier fai Treer & < wesa i o forr wemaT YaT R @
What is the International Bank for Reconstruf{tibn and Development (IBRD) ?
(A) Itis an international organization that rgﬁxlates and supervises the global bankirig system
(B) It is a United Nations agency that focuﬁs‘? on poverty alleviation and social development
(C) 1tis a global financial institution that proyides microfinance loans to small businesses
(D) It is an international financial institutiog:g'g/hich provides financial assistance to member countries
126. <R ST, Foveny oS Rrararefier 3e0T 3 T Senér B Seeteefia i & g A, 3 e e & i off2 -
(A) S Ot F alish 4‘]
(B) ST Ri=Is qaiich b
(C) ¥=a 3us foret % ofist ST T I
(D) STTERIh 9 & TR Bt
The Green Revolution, which significantly increased agricultural production in many developing
countries, primarily involved :
(A) Organic farming practices
(B) Advanced irrigation techniques
(C) High-yield variety seeds and chemical fertilizers
(D) Genetically modifiedcrops e
S Wi AR Page0of2d | ¢ .. GER L SEanEtra e




127. PMIDY & @t g3 ? 2015
(A) 2830, 2014 (B) 30 37red, 2 ©) 2%
014 15™ August, 29
When was PMJIDY launched ? nd ber, 2015 ®) 15
(a) 28™ August, 2014 B) 30™ August, 2014  (©) N Lo
128. ﬁw%%aﬁﬁaﬁw-m%wm%maﬁﬁmmmﬁm%? (D) T
(A) HER (B) siiwRyr 'e.@) ith India ? )
- Which of the following country does not shate a lun‘_ uﬂdﬂ}'y w (D) Maldives
(A) Myanmar (B) Bangladesh ) China

129. i ig R e O e Ry st arelt T 2 2 w8
(A) wEteeir ST Y g R R sk @ \\a;a’ra#a%shmrf'%’ﬂm
(B) oy e st 3 R 1A s et o e 1 v S
(C)  rtareor 3 STyege wiroTTat 3 R el wransger uered TR
(D) ST S Ui @Y Ry w

In what ways does Green Finance support sustainablg Hevelopment ? im
(A) By encouraging the explmtatmﬁpof natural resources without regard for environmental impact
(B) By facilitating the growth of industries known for high carbon emissions

(C) By providing financial resources for environmentally friendly projects

(D) By funding foss1l fuel projects "

130. Wﬂmwwnéaﬁam%aﬁmsﬁ@aatw% ‘7@
- What is the highest GST rate levied on white goods
qg)

(A) 25% ®) 28% D) 12%

131. UNCTAD &1 &0 = 2 »
A) mﬁé@%wmé‘é@éawﬁz ‘
B) I G HiShd A ESASEERLLTAl :
(©) mﬁmam ma‘gqgéaaqﬁz C’
(D) TR v Fh i 35 G e <:']
What is the full form of UNCTAD ?
(A) United Nations Common Trade and Development i
(B) Universal Nations Conference on Trade and Development
(C) Unique National Conference on Trade and Development
(D) United Nations Conference on Trade and Dev¢lopment

132, ‘agifw Wﬁﬁm@ﬁ»—nmﬁéﬁ foraeh g forEirs oft 2

(A) SIS J9TE o ) BRET T S

(C) wRIEt awt ‘ﬁe) eig

Who wrote the book ‘Sadgati’, on whlch a film was tide ?

(A) Jaishankar Prasad ‘ ' @) Harivansh Rai Bachchan

(C) Mahadevi Verma ('B) Premchand
133. Tmfafed & & fore qef et werm wft st I T g firer o 2

(A) T fig ) R "R

(C) T STRTGY ATEAt (D) =R g

Which of the followmg former Indian Prime Minister did not receive the Bharat Ratna ?

(A) Manmohan Singh (B) P.V. Narasimha Rao

(C) Lal Bahadur Shastri (D) Charan Singh i

KeWU A, e I e ittt




B Zt?ﬁgm TV e Srrrer 3 o TR 61 718 oft 2 - ‘
oA () e © Wi (D) @
(A) SirJ hlxrll ndia was conducted at the time of which ruler ?
i 1; ohn Napier  (B) Lord Lytton (C) Lord Auckland (D) Lord Mayo
135. 21@ Wﬁm
SR T YRR % 7
(&) TS T

(B) fﬂ?ﬂq?famgﬂ (C) Tl 1 T3, (D) SRS
Which battle marked the beginning of the British €0, nial rule in India ?

(A) Battle of Wandiwasly (B) Battle of Pampatg %(C) Battle of Plassey (D) Battle of Buxar
136. WW@WWWW%? tHs
(A) @ gL Eterd i A3y woer s weart
(C)  ft i Torert H e | WD) =y srguor if ey
z\f&lzatlon ?
B) Higher carbon emissions
D) Decreased air pollution

What is a significant environmental nnp'\ct of urb
(A) Increased green spaces

(C) TImproved water quality it QL.J
137. FEHAW IS HT A R

A) mﬁnﬁﬁﬁmwmﬁwﬁa&mﬂ
B) ot ek ek STl UET

© ﬁmmgﬁmﬂﬁﬁ%ﬁqm%aﬁt%ﬁ?ﬁﬁmw%
(D) TE TR BRImEger

The term Ransomware means ;0
(A) A malware that monitors user act1v1ty B D
(B) Unauthorized access to anetwork @

(C) A software that encrypts ﬁles and demands e{ nsom

(D) A type of phishing attack U TR W
138. mﬁﬁaa@mmgmm‘? A (‘fg f

[ h L%,

‘When did World WarIbegln'7 It 5«% i Bk

(A) 11930 (B) 1920 i ‘{1,(0) 1914 (D) 1919
139. YRAHEEH SIS %l o - B PR

@ frufEem L (I FRTE S

€) FmeReTggsEH -:QD)T‘W;

India’s largest forest is

(A) Gir National Park ' (B) Kanha National Park

(C) Jim Corbett National Park (D) Sundarbans
140. ‘TEARBIA wm%ﬁ%mmmﬁwaﬁm@ I I § 2

(A) <@ (B) cETEA | .. (C) AT (D) "yq

‘Lathmar Holi’ is a unique celebration observed m(\zjnch town of Uttar Pradesh, mentioned below ?

(A) Barsana (B) Vrindavan zggg.(C) Agra (D) Mathura
141, S IR T IR e qreh foer foret # @ T 2 a:}

(A) 3T ~ (B) WITRW @O e (D) TRER

In which district was Uttar Pradesh’s first Traffic 1'@?( opened ? :

(8) et P Rl jf_)_-f*_y_"_‘fh_y_“__-_______fl_)_)-_G.‘_"_a_k_h_p_‘i‘ ___________
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142, Teor Qe
(A) A q (B) Ffrg @RI
The Hara iVilizatiam : )
@ (ﬁ}:agi\(llill\ir;l;tzizt;on 18 also known by which ot(l;;)r n]z;?::/i?dian Civilization
(©) Indus Valley Civilizatiop (D) Aryan Civilization
3. ST St o s ey
A) W&, (B) 97 fergrdt ameraaft
©) T fig 28 (D) i
Who is known ‘

as the father of GST in Indin 7 My ,
(4) H.D. Deve Gowdy c) (B) Atal Bihari Vajpayee
© Manmohay Singly & (D) Narendra Modi
A

144 o e R e e e st i S 5 A el 1 e 4 7

() ®) five i (©) At D) X e
\thi(:h :ocial media platform introduced the conc%i)]t of “Fleets”, similar to Instagram Stories and Snapehy
naps ¥ e
(A) TikTok (B) LinkedIn &;l (C) Naukri 1 (D) X (Twitter)
M8 ot et e s o v e e e e
Q&) W ®) @ © feRir (D) 3= TrdSifd
means taking forceful control of another person’s website. ‘
(A) Hacking (B) Spam a%g (C) Phishing - (D) Web hijacking
146. mmsﬁrwﬁw%aﬁa%aﬁ%wﬁmw%gm%? »
(A) TG (B) it Qo wm (D) S&Ig
Due to which river has an issue been created bewgg;%n India and Bangladesh ?
(A) Yamuna ‘ (B) Teesta ‘{} (C) Ganges: (D) Brahmaputra
147. =H-1 vee R R A Reogforat (ma?ﬁ@)aﬁd@ﬁﬁ%gmﬁmaﬁravhm%? Hd
(A) T (B) uftehedsT whigmr (jj] (©) ¥ (D) ferere (A
Which term describes the process of assigning nu’g;i?ers to observatiol/s according to specific rules ?
(A) Analysis (B) Hypothesis Testing* (C) Measuremént (D) Sampling
148, m&ﬁa@&mma:raﬁmmag%am-m(wﬁmﬁﬁﬁwmmﬁ? .
(A) 3= 22 (B) FHT1  wd(C) T2 (D) 3= 14
Which Article of the Indian Constitution deals wi!]};the freedom of speech ¢
(A) Article 22 (B) Article 19 (:) (C) Article 21 (D) Article 14
149. TR & ferdr w1e¢ 7 g 3 90% 12 T HaTa A% o
(A) IR (B) ¥ 4p © @ (D) =k
In which city of India are 90% of the V\{orld’s smeg )diamonds processed ?
(A) Jaipur (B) Mumbai <:l (C) Surat (D) Baroda

150. 2011 Eﬁwwm%aﬁwmﬁgﬁrawmwT .
The total forest cover in India as per the 2011 cerf uE is

.
—————

(A) 22.07% (B) 23.42% ©) 21.05%

_________________________
- -
- -
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